M-300S-60°

F22-02.18






f1,5mmj

j1,5mm’

‘1,5mm:

———— | =
- —— T 1,5 mm
f1,5mmj
i1,5mm‘
:2mm:
= \
|
——— | = -
— — 1,5 mm

}LSmm




9.09.0100




Henvisning Type Standard Vare nr.
Citation Type Standard Item no.
Zitat TYp Standard Artikel-Nr.
G M6 DIN 6923 S181 9.01.0301
Q M8 DIN 6923 S$181 9.01.0401
Dd  \I/ M10 DIN 6923 S$181 9.01.0501
| M6 X 16 DIN 6921 8.8 FZB 9.01.0313
J M6 x 25 DIN 6921 8.8 FZB 9.01.0317
S M8 x 16 DIN 6921 8.8 FZB 9.01.0413
T M8 x 20 DIN 6921 8.8 FZB 9.01.0415
U @ M8 x 25 DIN 6921 8.8 FZB 9.01.0417
Y M8 x 30 DIN 6921 8.8 FZB 9.01.0418
li M10 x 20 DIN 6921 8.8 FZB 9.01.0515
A M10 x 25 DIN 6921 8.8 FZB 9.01.0517
lii M10 x 30 DIN 6921 8.8 FZB 9.01.0518
Jj M10 x 35 DIN 6921 8.8 FZB 9.01.0524
Nnn ﬂ M16 x 150 9.01.0845
0 @g M6 X 12 9.01.0395
L M6 X 16 DIN 7991 8.8 FZB 9.01.0370
Aa @ M8 x 16 DIN 7991 8.8 FZB 9.01.0470
Qq M10 x 25 DIN 7991 8.8 FZB 9.01.0572
P M6 DIN 985 8.8FzB 9.01.0304
R M8 DIN 985 8.8 FzB 9.01.0404
Ee r//‘\% M10 DIN 985 8.8 FzB 9.01.0504
Tt k@]’ M12 DIN 985 8.8 FZB 9.01.0604
Vv = M16 DIN 985 8.8 FZB 9.01.0819
Eee M6 9.01.0303
Gg M6 9.01.0305
Yy \ M8 9.01.0407
2z | M8 9.01.0405
Aaa “ M8 9.01.0403
Bbb M8 9.01.0464
Fff M10 9.01.0510
C M10 9.01.0503
Ddd M10 9.01.0505
Jji M12 9.01.0607
Ccc @ M8 9.01.0406
B M6 X 12 9.01.0351
Ppp M8 x 20 9.01.0483
Nn M10 x 25 9.01.0516
Ss @ M10x20+M10 9.01.0514
Bb 60° 4.05.0609
Ff N 45° 4.05.0608
0o M6 X 35 DIN 933 8.8FzB 9.01.0319
E @ M8 x 35 DIN 933 8.8FzB 9.01.0419
X M8 x 40 DIN 933 8.8 FzB 9.01.0420
LI L M10 x 35 DIN 933 8.8FzB 9.01.0519
Hh ‘ M10 DIN 934 8.8 FzV 9.01.0508
Uu N\ 4/ M12 DIN 934 8.8 FzV 9.01.0600

-3-







® J+G




() 4.06.0930

(2)4.06.0931

(3) 4.06.0920

@) 4.06.0921

AN

Y

@ 4.06.0910

[

4

4

(6)4.06.0910







\ (o]
o
Al
o
— \\6
= =1 O
@~ 3
8
[ = o
o
@< o
LN
[ 18
/ =g
@1.
AN
“ 8
..... ’ |/ ©
: /| ©
: / ©
/| ©
@ | o | 3
S | S @
S | g /]
N...w. <
-
Ln
o
o
(Ce]
o
<
..... - %
<
< M S
N (<] o
3 S <
pum— = S ©
N .4 4
\mnanali




@ 4.06.0063S

) 4.06.0063

(3)4.06.0096

]
..... -
il
(8)4.06.0102
(7)4.06.0050
@) 2.12.0050




@ : D
(1) 4.06.00755 (3)4.06.0063S
) 4.06.0063 @)4.06.0097

il

@ :

4.06.0050

: ® : 4.06.0102
—~__ .12.0050
7) 4.06.0051 i

li+Dd @

+G

-10-

2
©




11-




........................

NN
i ///

\ J ,\.e\\\\N \
\ «\ 7 7
\ '

..............

........................




@) 4.06.00665

(3) 4.06.0043S

(1) 4.06.00395
2) 4.06.0062

-13-




3) 2102

@) 4.00.0040

@4.00.0046

\\ t\\

14-




(1) 4.00.0035 i

2) 4.00.0009

15-




-16-




concrete/ Beton/ beton

1000 mm

e/ Beton/beton (min. c25/30 Mpa)

214 | 18

214
=18

Silo

~
oo ww.
== o

1
[%]
S
.rﬂm
S € E=IE=15:X E=1E=3K ] E=1E=30>Y E=1k=1E=]
0 — ENENSE NS E=1R=1E4] BRI Rl A Bl =)
€ v EEBDYEd] BIENIE=]1 BIENY ] B B B
EWEN | — | —| o| N|N] o| N[N} o M| N
0 BN > = >
=l — [ [ =
—_— 1 1 1 1
£ ) w v v
= B S S S

= = [ [

1 1 1 1

) v v )

< S < <

= = [ =

=50Nm

M12







